MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603

BUILDING CODE COMPLIANCE OFFICE (BCCO) MIAMI, FLORIDA 33130-1563
PRODUCT CONTROL DIVISION (305) 375-2901 FAX (305) 372-6339
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode
Palm City Millwork, Inc.

3313 SW 42™ Avenue

Palm City, FL 34990

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Clad Mahogany Outswing & Inswing Aluminum French Door - L.M.I

APPROVAL DOCUMENT: Drawing No. 1197, titled “Aluminum Clad Mahogany 1 3/4” Outswing &
Inswing French Doors”, sheets 1 through 12 of 12, prepared by W.W. Schaefer Engineering & Consulting,
P.A., dated 12/9/02, signed and sealed by Warren Schaefer, P.E., bearing the Miami-Dade County Product
Control Renewal stamp with the Notice of Acceptance number and approval date by the Miami-Dade County
Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 03-0116.10, and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Jaime D. Gascon, P.E.

NOA No. 08-0425.06
Expiration Date: May 22, 2009
Approval Date: June 12,2008
Page 1




Palm City Millwork

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1. Manufacturer's die drawings and sections.

2. Drawing No. 1197, titled “Aluminum Clad Mahogany 1 3/4” Outswing & Inswing
French Doors”, sheets 1 through 12 of 12, prepared by W.W. Schaefer Engineering &
Consulting, P.A., dated 12/9/02, signed and sealed by Warren Schaefer, P.E.

B. TESTS

1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC,TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of an aluminum clad wood
outswing French door, prepared by Hurricane Test Laboratory Inc., Test Report No.
HTL 0067-0504.02 dated 5/23/02, signed and sealed by Vinu Abraham, P.E.

2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC,TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of an aluminum clad wood
outswing French door, prepared by Hurricane Test Laboratory Inc., Test Report No.
HTL 0067-1202.02 dated 5/23/02, signed and sealed by Vinu Abraham, P.E.

C. CALCULATIONS

1. Anchor Calculations and structural analysis, prepared by W.W. Schaefer Engineering
& Consulting, P.A., dated 1/8/03, signed and sealed by Warren Schaefer, P.E.

AN ~—

Jaime D. Gascon, PE.

Chief, Product Control Division
NOA No. 08-0425.06
Expiration Date: May 22, 2009
Approval Date: June 12,2008



Palm City Millwork

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

D. MATERIAL CERTIFICATIONS

1.

2.

3.

4.

Notice of Acceptance No. 08-0206.01 issued to Solutia, Inc. for “Saflex HP and Saflex
HPc¢” expiring on 4/17/13.

Notice of Acceptance No. 07-1116.04 issued to EL. DuPont DeNemours, Inc. for
“Sentry Glass (R) Plus” expiring on 1/14/12.

Notice of Acceptance No. 06-0216.06 dated 1/14/12 issued to Solutia, Inc. for “Saflex
/ 111G (Keepsafe Maximum) expiring on 5/21/11.

Notice of Acceptance No. 03-1223.04 issued to Surface Specialties, Inc. for

“Uvekol - Liq. Resin to adhere Glass” expiring on 2/8/09.

E. STATEMENTS

1. Statement letter of conformance, dated 4/21/08, signed and sealed by Warren
Schaefer, P.E.

2. Statement letter of no financial interest, dated 1/9/03, signed and sealed by Watren
Schaefer, P.E.

3. Laboratory compliance letter for Test Report no. HTL 0067-0504.02, 0067-1202.02
issued by Hurricane Test Laboratory Inc., dated 12/19/02, signed and sealed by Vinu
Abraham, P.E.

F. OTHER

1. Letter from the consultant stating that the product is in compliance with the Florida
Building Code (FBC)

2. Notice of Acceptance No. 03-0116.10, issued to Palm City Millwork, for their Clad
Mahogany Outswing & Inswing Aluminum French Door — L.M.L, approved on
05/22/03 and expiring on 05/22/08.

3. One year conditional approval, subjected to successful verification test, the final

approval will be balanced of total 5 years.

-~

Jaime D. Gascon, P.lﬁ
Chief, Product Control Division
NOA No. 08-0425.06
Expiration Date: May 22, 2009
Approval Date: June 12, 2008



DRAWN BY: CHECKED BY:

/4" \ TAW. WW.S.
74 1/4" MAX. FRAME WIDTH (F.W.) 74 1/4” MAX. FRAME WIDTH (F.W.)

PLOT:

DATE:
” 1=16 12/09/02
) 18" MAX. 37
6" WA, Ij8 MAX.'-, smu@b:m B e (1 _ 6" MAX. | l: D ” STRIIQA:E @ REINF. BAR (TYP "
(™) 5 EA PANEL)  — ~ (TYP) 57 \ EA. PANEL) — 4\ z
LN/ L] | /] \\ | g UL g / \
/ H \ \ \ & k / U \ J
N — ~ z
=i ~ 4 " ! " TYP. FRAME SCREW AS K_ &
k TYP. FRAME SCREW AS\ SEE CORNER NO. 10 SCREWS OR 3/16 . 2
e AL 5 N (4 AS SHOWN CONSTRUCTION CONCRETE SCREWS INTO R || SHOWN (4 AS SHOWN St CORNER 12
CONCRETE SCREWS INTO (|| SHOWN ( - T 1| ACROSS HEAD AND AT CONSTRUCTION &
i || ACROSS HEAD AND AT REQUIREMENTS SUBSTRATE (5 THROUGH 1 REQUIREMENTS” |2
SUBSTR/;TLE\T(ES) T@T:gUGH ¥ 116" 0c. AT SDES). SEE ON' SHEET 10. STRIKE PLATE)  SEE T || 16" O.C. AT SIDES). SEE ONQSHEH 0 1lz
STRIKE C. : ; "FRAME ANCHOR 18
> , FRAME ANCHOR , z
FRAME ANCHOR FRAVE ANCHORTABLE-- N REQUIREMENTS TABLE” ON REQUIREMENTS TABLE” ON B g
REQUIREMENTS TABLE" ON REQUIREMENTS | _ REQUREUENTS TABLE. ¢ THS SHEFT FOR SCReW |
| THS SHEET FOR OTHER OB SRR ] FASSTENER REQUIREMENTS REQUIREMENTS. ————"] g
FASTENER REQUIREMENTS. REQUIREMENTS. ) ‘
/ / \ (38)
I I \ ) el e
“ o N\ ' = / .—\ ot
- -/ INACTIANEL 8 ’\ \ | . L_% o —H INACTIVE PANEL \ 1] @@ N\ — -
j ] SO i 2 - LOCK HARDWARE @
e - LOCK HARDWARE \__“ PR g e \—“ S| o
E2 D \ ®@ !S(:(())gUICT RENEWED : = > ACTIVE PANEL. POSITE 8 2 uwi o
o > ACTIVE PANEL OPPOSITE B mplying with the Florids 2 o< LOCK HARDWARE oP .22
z = LOCK HARDWARE Building Code = = -1 258,
z = A 08-0Y25.06 & . T\ /R S| £33
=~ QT MV D > ST &2 Qo =~ g gl 353
=5 : — = 8 — |26 3/4" uAX. DLO.—| 1 & — 2| =T=£8
o 26 3/47 MAX. DLO. )yt il // y © 1 # \ HANDLE / z| 528
Z - ol U HANDLE = | 16" MAX. = o=t = — 3
= 16w oc N NO. 10 SCREWS OR / - 0.C. \ NO. 10 SCREWS OR / 8| 3R
i (e.) A 16" T (Tvp.) 3/16" CONCRETE , ol &
| \ s/éﬁwsc?h?%RESTSBS/TRATE a ‘ \ SCREWS INTO SUBSTRATE Z |«
// AN (SOCNEE AT EACH SILL HINGE REQUIREMENTS 4 /// N\ (ONE AT EACH SILL (. 2 s
JEL EE—— ' ) =38 {*]
N CORNER & 5 THROUGH DOOR HEIGHT | # HINGES REQ'D \ §?§EERP§T§)TH§?€GH o [
N zZ
\ 36" SFTRR/I\}:AEE Fj\trfgﬁg)R e 84" & LESS 5 RENF, PLATE— 36" "FRAME_ANCHOR = |
REIF. PATE— 36 . z Ve, EAcH REQUIREMENTS TABLE" ON - -
(TYP. EACH REQUIREMENTS TABLE" ON OVER 84 4 ] =
. PANEL) % || THIS SHEET FOR OTHER z| ¢ g
e || Bf] || [HS SHEET FOR OTHER N | Pl || FASTENER REQUREMENTS. gl 2 ol
'IJ FASTENER REQUIREMENTS | \ i > B % E‘f £
—] 3 [ e —— ] " Zy e 3
N 8 MAX. STRIKE PLATE \ N \EL S(kai/.\;(‘ < (zDDh 3¢ p
STRIKE PLATE 5 ) Plorids Buliing O\ . ' | ; e 2(2-'9_ g2
i > ‘ Rs1L58 pus | H 3| o5 8sy
I q N W ] il | D N P z Ea 439
o W, > Z 509
0( %A;(' l“ EXTERIOR ELEVATION l“ INTERIOR ELEVATION DOUBLE RECTANGULAR INSWING DOOR Eé gég 255
. - i Y
DOUBLE RECTANGULAR QUTSWING DOOR WITH MULTI-POINT LOCK SYSTEM ALLOWABLE DESICN LOADS § §;’°B 82,
o
* FRAME_ANCHOR REQUIREMENTS TABLE (1) POSTVE .
OPENING TYPE JAMB TO OPENING MINIMUM | MINIMUM LOCK SYSTEM USED WATER RESISTANCE |WATER RESISTANCE | NEGATIVE .
(SUBSTRATE) FASTENER TYPE EMBEDMENT |EDGE DIST. REQUIRED NOT REQUIRED X
GENERAL NOTES h = :
1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED 2X_ WOOD FRAME OR BUCK NO. 10 SMS SCREW 1/ 4v _ PANIC DEVlC% G " — i5 P =8
FOR DESIGN P"RETiSBLEIEES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE CMU/CONCRETE (1)3/16" CONCRETE SCREWS 1 1/4 2 (AppUCégb%S‘[oor\?LUY)_S 53
DESIGN LOADS : i
B Lo o TR e N e erris MUST BE PROPERLY DESIGNED & (1) coNCRETE SCREWS SHALL BE ELCO OR W RAMSET/RED HEAD TAPCONS, LTI KWK—CON I NEE
NSFER WIND LOADS TO THE STRUCTURE. MULTI-POINT PSE =z
, INSTALLED 10 TRANSFER WIND LOADS T N ACCORDANCE T THESE omaWGS OR POWERS RAWL TAPPER (HARDENED STEEL OR S.5.). - WITH IN-SWING DOORS N/A 60 PSF 60 PS N
UNLESS SPECIFICALLY MENTIONED ON T . K : )
e S ey oo LR oy | mey | mes
£ WATER, AR, ! . CYCL 8 . ~ 2
PRESSURE TESTING, IV CONFORUANCE WITH FLGRIDA BULDND CODE PROTOCOLS  NOL 3 SOUTHERN PINE HOOD BUIL. W G NCHORED 10 BUCK, KO (V;”TH OUT-SWING e E
TAS-201, 202 & 203 FOR LARGE MISSILE IMPACT DOORS 10 SCREWS SHALL BE USED. WHEN DIRECT MOUNTED OR MOUNTED ¥ 1) WHERE WATER INFILTRATION RESISTANCE IS A REQUIREMENT,  THE PAN e
5 TS DR TS e oz ESNED I accoromi W SPACER, 3/16" CONCRETE SCREWS SHALL BE USED.  SEE ANCHOR 5K oM, 0 10 Bl 7 B W NS e T I o e
6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE DOORS. . REQUIREMENTS TABLE" FOR EMBED REQUIREMENTS. PROPER MATERIAL SHALL BE OVERHANG TO SILL IS LESS THA,; 45'32%%55% EOEREVAH%ET%ESLIJGN& DlSﬂI)NiLA&LE? \'V'iTéR ——
STALLED AS SPECIFIED ON THESE DRAWINGS. . —HABITABLE AREA WHERE THE UNI
& é'ﬁlécfgﬁcgogmseggrﬁthregolNBASE MATERIAL SHALL BE BEYOND WALL FINISH OR USED BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE & ALUMINUM) m_mnorq. 1 o 12
STUCCO.




—

l 74 1/4" MAX. FRAME WIDTH (F W il
P STQKE o () 74 1/4" MAX. FRAME WIDTH (F.W) e o
6,, (TYP)—._ 37 18” MAX 1=16 12/09/02
A (B . .
5/ 6 MAX. ” STRIKE PLATE 5 w
5 REINF. BAR (TYP (7YP.) 1 &
N L1 . FA P # > ! ™ g l |
! 8 3/8" ; \ Rat @
, N — I~ MAX. DROP 7&\ = \ iIHEN \ =
~ [ N (I 3
f \ T i f / TJINO. 10 SCREWS OR 3/16" I TYP. FRAME SCREW AS E
_ NO. 10 SCREWS OR 3/16" 7 || TYP. FRAME SCREW AS | CONCRETE SCREWS INTO i (14 || SHOWN (4 AS SHOWN &
CONCRETE SCREWS INTOQ L || sHown (4 a5 sHown [T (_ v SUBSTRATE (5 THROUGH {11 || ACROSS HEAD AND AT 4
SUBSTRATE (5 THROUGH ACROSS HEAD AND AT SEE "CORNER — STRIKE PLATE) SEE (1] 11167 0.C. AT SIDES). SEE z
STRIKE PLATE) SEE 16" 0.C. AT SIDES). SEE CONSTRUCTION "FRAME ANCHOR i1 |I"FRAME ANCHOR 2
_{ "FRAME ANCHOR "FRAME ANCHOR | REQUIREMENTS" | REQUIREMENTS TABLE" ON 144 || REQUIREMENTS TABLE” ON B &
REQUIREMENTS TABLE" ON REQUIREMENTS TABLE” ON 1 ON SHEET 10. SHEET 1 FOR OTHER || THIS SHEET FOR ScRew || - .
SHEET 1 FOR OTHER THIS SHEET FOR SCREW FASTENER REQUREMENTS. || I}/ 1l |IREQUIREMENTS. — — ] g
FASTENER REQUIREMENTS. REQUIREMENTS,%/ / T
- - e " iN
z // & i N = 26/3/4 MAX. D.L.O.A’ ] L \
S ~+ ¥ INACTIVE PANEL 1{“ \ r < / | : w N
5 S5 N — S — sl -
g o LOCK HARDWARE \ f;j = i @ \ g g
L ;E ACTIVE PANEL OPPQSITE W % Il PANIC OPPOSITE s] = W2
z Ve TN LOCK HARDWARE /N z = TN i LOCK HARDWARE S| ¥=2x
o 2 H CI2N] ] H Q E S
2 || N[ INACTVE (77 ¥ ACTVE < N SR T ACIVE GO/ ACTVE = D > 8| 22°8
<C . L / < I [ A Lo :’ ~+ e}
= 3 —_ " (. = 3 L ﬁ— . © = Ty
- T N— 26 3/4” MAX. D.LO. —] 1 Vs i 7 , = s - 2| 2259
— €] S ] i E
=18 . oc N ﬂ“” 1 / = f A H |\ 5 / 2| 2233
- . 0C. 16" Max. oC. )1 | 3RS
T ) N4 5 ~ / - = ow) N il 39 o| &7
l N\ waoe l AN : i / £ e
.’ )
- \ / i S \ i / - 3
N /A i / U
7 8" R { z
N\ 36" / | /% 7/ |k / e £}
AN ! \ ! / /// g 3
‘fﬁ‘ REINF. PLATE i % e &4
i1,/ (e, S N / S| & age
f [TV 3:’{:
b ﬁ\ n / [ 8 N ) B : 25e’s
, - i 8" MAX. o™ 522
| 9 (Tvp.) i \H R (TYP.) 5 Eg G
= INAL Y 25
1 —— = O 2oy
| ) @/,”% ; T | B 3"13\ | r 2 | 3,58
» ) . = n ¢
o /—— STRKE PLATE NO. 10 SCREWS OR 3/16" CONCRETE SCREWS INTO SUBSTRATE O MAX'.I L AAAAF N0, 10 SCRERS OR 3/167 CONGRETE SCREWS INTO L3 |, 2553
(e, (ONE AT EACH SILL CORNER & 5 THROUGH STRIKE PLATE) see (TP SUBSTRATE. (ONE AT EACH SILL CORNER & 5 AT STRIKE coat]
"FRAME_ANCHOR REQUIREMENTS TABLE" ON SHEET 1 FOR OTHER LOCATION)  SEE "FRAVE ANCHOR REQUIREMENTS TABLE e RN
FASTENER REQUREMENTS. ON SHEET 1 FOR OTHER FASTENER REQUIREMENTS. I FERRE
o“ .
EXTERIOR_ELEVATION EXTERIOR_ELEVATION =
DOUBLE_ARCHTOP QUTSWING DOOR WITH MULTI=POINT LOCK SYSTEM DOUBLE RECTANGULAR OQUTSWING DOOR WITH_PANIC DEVICE LOCK SYSTEM - u
. [ -
NOTE: 1) INSWING CONDITION ALSO APPLIES TO THIS SHAPED DOOR. SEF INSWING T 1Sl)~|ATI_I—IiENF())ATN’gE Dﬂéﬁfc&?f?’l?%ﬁ%é SSOSQ”"SW'NG POORS ONLY  AND 3 i
ELEVATION ON SHEET 1 FOR DOOR DETALS. : = 3
2) PANIC DEVICE LOCK SYSTEM ALSO APPLIES TO THIS SHAPED DOOR S W\ &g
(OUTSWING CONDITION ONLY). SEE OUTSWING PANIC DEVICE DOOR ELEVATION PRODuCT £l oz ¥
ON THIS SHEET FOR DETALS. &S complying with the Floridg bl =E
Building Code O =
Acceptance No
Expiration Dy,
gy — ORAWING NO. JREV.
SHEET NO.
2 o 12




—

DRAWN BY: CHECKED BY:
T.JW. W.W.S.
PLOT: DATE:
1=16 12/09/02
150 1/2" OAL. §
z
” o
TYP. FRAME SCREW OR ~—38 1/8" MAX. FRAME WIDTH (F.W.) 4 1/4" MAX. FRAME WIDTH (F.W.) — 38 1/8" MAX. FRAME WIDTH (F.W.) —m
MASONRY CLIP 6" OFF ] 6 8" REINF. BAR &
CORNERS AT HEAD OF e — @—\\ (P EAPANEL) .
FIXED PANEL UNITS \‘ = 414341/3*3 3* 5 SRCAATE | Q 5 33 333 @ ggﬁ 51%%%#% .
Q
N | Num Ll | [ N REQUREMENTS" 2
1~ VT T T q\ ON SHEET 10. 2
, | YLl AN N \ y
| W ¥ N 4 a
2 ADDITIONAL FRAME NO. 10 SCREWS OR 3/16" TYP. FRAME SCREW AS 2
SCREWS EACH SIDE OF CONCRETE SCREWS INTO [ || SHOWN (4 AS SHOWN :
MULLION (TYP. EACH END) SUBSTRATE (5 THROUGH || ACROSS HEAD AND AT /0 /4 2
STRIKE PLATE) SEE T {167 0.C. AT SIDES). SEE
"FRAME ANCHOR "FRAME ANCHOR
_ Yz 74 REQUIREMENTS TABLE" ON REQUIREMENTS TABLE” ON
SHEET 1 FOR OTHER THIS SHEET FOR SCREW —
: FASTENER REQUIREMENTS. REQUIREMENTS. -
/ : ‘ § o
= /X X \ 2| S48
- o O / | I \ 0 | 5| £2%g
z S — INACTIVE Iy ACTIVE N L AN
o o |~ = -~
=2 / @—1 g| 2225
g - 4 R INACTIVE PANEL LgcC»INIEAES{&E OPPOSITE OPPOSITE E % : ;j og’;
& o P R LOCK HARDWARE /I /R /BN Sl =5z
o = NG < QUTSWING (5 < S o, 4 5 OUTSHING = o 2 E”
= ™ =
= T 1 INSWING % P26 3/4" MAX. D.LO. —]f INSWING — & g
< ) s 2 =
= | 16" MAX. OC, N =T | BT & / - N
D (TYP) \ !f. / @ g z
// ] \ d HANDLE N =
T A £lg ¢
[ (<] ~ m"”ul‘)
h / /// S| B
7 / A
w \ ! y (36) Yz 0/ 3 %da_déé
. i REINF. PLATE © z gz-
N A (T\;!ZNEEADCH 3| &5 8¢es
i ' 4 2| B3¢
—] . - <z ETSH
’ i 8 MAX L3 |, 55 23k
(TvP) A RS-
S e . - e |3x®8E]
| RN L T T T l f : |27 g
6" MAX. P < ﬁ#% q q 3% 373" 3" 3" 3" q s 8= £
(tvp) STRIKE PLATE ’ T N
NO. 10 SCREWS OR 3/16" CONCRETE SCREWS INTO SUBSTRATE (ONE AT FACH - o
SILL CORNER OF EACH THE FIXED & OPERABLE UNITS & 5 THROUGH STRIKE =) o0
PLATE) SEE 'FRAME ANCHOR REQUIREMENTS TABLE" ON SHEET 1 FOR OTHER 5| e b
 EXTERIOR ELEVATION FASTENER REQUIREMENTS. <l 3
| e o
OXXO _UNIT WITH OUTSWING DOOR & MULTI-POINT LOCK SYSTEM PRODUCT RENEWED = i
8s complying with the Fiorida | = _a
NOTE: 1) OXXO DOOR SHOWN. ALL OTHER 4—PANEL CONFIGURATIONS OF Building Code Ol ag” &
SINGLE/DOUBLE DOORS & SIDELIGHTS ALSO APPLY. E““"WN g
2) OUTSWING CONDITION SHOWN. INSWING CONDITION ALSQ APPLIES PER THE ¢
INSWING DOOR CROSS SECTIONS. 2 DRAWING WO TREV.
3) MULTI-POINT LOCK SYSTEM SHOWN. PANIC DEVICE ALSO APPLICABLE. ?)’f’f 1197
i SHEET NO.
3 o 12

_ |



—

f

NO. 10 SCREWS OR 3/16" CONCRETE SCREWS
INTO SUBSTRATE (ONE AT EACH SILL CORNER)

SEE "FRAME ANCHOR REQUIREMENTS TABLE" ON
SHEET 1 FOR OTHER FASTENER REQUIREMENTS.

I _4_/‘]

EXTERIOR ELEVATION
SINGLE RECTANGULAR OUTSWING DOOR WITH

- 38 1/8" MAX. FRAME WIDTH (F.W.) —]
6" MAX.
(ve) f' @
5 N
| VA " \
\
_] Jk _‘“'_/_I\SEE "CORNER
TYP. FRAME SCREW AS ' CONSTRUCTION
1| SHOWN (1 AT EACH REQUIREMENTS
L} FRAME CORNER & 16" ON SHEET 10.
0.C. AT SIDES). SEE
"FRAME ANCHOR
N REQUIREMENTS TABLE” ON -
SHEET 1 FOR OTHER |
FASTENER REQUIREMENTS—"
\ 16" MAX. O.C.
= (Tvp.)
v 5 A
E s l/ LocK N\
s I - r; HARDWARE \ F—_ —
£ °
= 2 OPPOSITE
oz =
£ o AN - - VA
x = \&/ M\
= M ] N |
. o [ 28 3/4" MAX. D.L.O. —/
> ol j /
Es G |
Y HANDLE
/
/
/o / /
i 39
ﬁ / HINCE'
| L7
I —
8" MAX. |
(TYp)

6" (TYP.)

MULTI-POINT LOCK SYSTEM

NOTE: 1) PANIC DEVICE LOCK SYSTEM IS ALSO APPLICABLE TO THIS
DOOR. SEE ACTIVE PANEL ON DOUBLE PANIC DOOR ELEVATION

FOR DETAIL.

2) RECTANGULAR DOOR SHOWN, FULL OR HALF ARCH TOP
ALSO IS APPLICABLE WITHIN LIMITATIONS OF DOUBLE ARCH TOP

ELEVATION ON SHEET 2. -

|~ 38 1/8" MAX. FRAME WIDTH (FW.) —]

_/\SEE "CORNER

CONSTRUCTION
REQUIREMENTS”
ON SHEET 10.

16" MAX. 0.C.

(Tvp.)

OPPOSITE

(KN
\&/

SINGLE RECTANGULAR INSW:NG DOOR

6" MAX.
Sl
6} , ~ ~\
\/
7 A
TYP. FRAME SCREW AS —
Sy || SHOWN (1 AT EacH
it || FRAME CORNER & 16
0.C. AT SIDES). SEE
"FRAME ANCHOR
B REQUIREMENTS TABLE" ON
SHEET 1 FOR OTHER |
FASTENER REQUIREMENTS:—
AN
z \
= S :“l"!,/ LOCK AN
s S —it HARDWARE \
% o
e 2
£ » AN
% = \&/ hd N4
= 8 -
© L [
> ok g— /
s =G |
- HANDLE
4! /
/
/ Eg ///
o I /
| L7
1
8" MAX.
(Tvp.)
f l > )

-

NO. 10 SCREWS OR 3/16" CONCRETE SCREWS ——
INTO SUBSTRATE (ONE AT EACH SILL CORNER) *—‘
SEE "FRAME ANCHOR REQUIREMENTS TABLE" ON
SHEET 1 FOR OTHER FASTENER REQUIREMENTS.

EXTERIOR ELEVATION

|9

— 6" (TYP.)

NOTE: 1) RECTANGULAR DOOR SHOWN, FuiL OR HALF ARCH TOP
ALSO IS APPLICABLE WITHIN LIMITATIONS OF DOUBLE ARCH TOP
ELEVATION ON SHEET 2.

—— 38 1/8" MAX. FRAME WIDTH (FW.) —]
6 MAX. |
-
. 7 N
| /£ \\
U A
| Jk | /™-SEE "CORNER .
TYP. FRAME SCREW AS CONSTRUCTION.
SHOWN (1 AT EACH REQUIREMENTS
FRAME CORNER & 16’ ON SHEET 10.
0.C. AT SIDES). SEE
"FRAME ANCHOR
a REQUIREMENTS TABLE” ON |
SHEET 1 FOR OTHER |
FASTENER REQUIREMENTS—]
16" MAX. 0.C.
= (Tp.)
v
53 - /4 -
[NW) a
I .
g =2 OPPOSITE
£ » (@) /A
x = \9/ ~ ¥ 9/
= ™
[v0) — H—
%
=
o
(o]
8" MAX,
(Tvp.)
i | f
p
NO. 10 SCREWS OR 3/16" CONCRETE SCREWS )
INTO SUBSTRATE (ONE AT EACH SILL CORNER) ——6" (TYP.)

SEE "FRAME ANCHOR REQUIREMENTS TABLE" ON
SHEET 1 FOR OTHER FASTENER REQUIREMENTS.

INTERIOR ELEVATION
SINGLE FIXED PANEL

(WITH_INSWING _DOORS)

NOTE: 1) SIDELIGHT PANELS MAY HAVE FULL OR HALF ARCH TOP
SAME AS WITH DOORS.

PRODUCT RENEWED
s complying with the F loridg
Code

Building

Approved piyteg with the
:

CHECKED BY:
W.W.S.

DATE:
12/08,/02

DATE

8y

REVISION DESCRIPTION

NO.

PALM CITY MILLWORK, INC.
3313 S.W. 42ND AVE.
PALM CiTY, FL 34990

800~273-5598

MANUFACTURER

ALUMINUM CLAD MAHOGANY 1 3/4" OUTSWING & INSWING FRENCH DOORS

& CONSULTING, P.A.

600 SANDTREE DRIVE;

W. W. SCHAEFER ENGINEERING

DRAWING TITLE
CONSULTANTS

SUITE 203B

) PALM BEACH GARDENS, FL 33403
PHONE: 561-775-4902 FAX: 561-775-4903

7

3
7

AR 2 6 200
/

CERTIFICATION

¥

-
WARREN W. SCHAEFER, P.E.

P.E. NO. 44135

DRAWING NO.

1197

REV.

SHEET NO.

4 oF

12

|



-

DRAWN BY: CHECKED BY:
@ R0NG FRAME ANCHOR (SEE ELEVATION) MAY BE PER STRIKE INTO ~MIN. 2K4 BUCH S g FASTENER BY OTHERS e
REQ'D. B UCK PER STRIKE INTO =2 {MV2/00/02
USE OF NAIL FIN POSITIONED AT THIN OR THICK SECTION OF JAMB. BUCK PER ELEVATION) AND FASTENER BY BUCK PER ELEVATION) FRAME ANCHOR (SEE
& FiN NALL 1S ) e T EEC T G e el OTHERS . Ceen e e e 77 ELEVATION) MAY BE w
OPTIONAL & AN L T T T T I 2X4 BUCK AND S AL T e e S T Lt 7 T pOSITIONED AT THIN OR |8
SHALL NOT [~ FASTENER BY OTHERS 7 THICK SECTION OF JAMB.
REPLACE FRAME &
ANCHORS. (TYP.) === \</ /47 MAX. — _1/47 MAX. — /4" MAX.
SHIM & SHIM SHIM 2
i@j S s —— @“rﬁmé m"“ﬁw %
§ s 18 § g 2
o ' —g— T — > %)
o T 7 é
51 : )
Ne & No N :
&) 4 SESEN :
@—/ @ TS @
o :
ALY o
(o 4
glg.
7 - =4 &
W N W ~ W N X N << ? ©
/ \ SEE GLAZING DETAIL / y ' _—SEE GLAZING DETAIL / | SEE GLAZING DETAIL 215273
| . \ (ou SHEET 10. _ \ (on SHEET 10. | H \ \/ON SHEET 10. = ggd_é
o o
\ @LT\ / \ @ / \ @L v / ~ =578
—_ —_ T =z — 5™
EXTERIOR | \_ o = EXTERIOR | \_ o = EXTERIOR | \_ o (5 s | 3BT
- — = — & 21.°
=z T & = |G
] o - A
J |
g : ] U N
r & ( e = [
1/ 1/ o/ 2 -
zl2 3
S| & 38
W 8371
5 Za L8
A [I‘\\Vr = L!é §§N
5 : NOTE: ADA THRESHOLD IS Z| 5383
Zas! D APPLICABLE TO ALL S| €2 &8s
SEs) OUTSWING DOORS. M= w59 287
@ {(’Si§ 7 @ E ’E‘mo i z
R 9 o 5.9 33%
=g = |3ET Bey
o 24 z |27 3
R EES I
J , SEALANT BY
SEALANT BY SEALANT BY = ﬂla M OTHERSM At A !
HERS OTHERS — f s :
T : 2 @5
LT I B TN T e ° !55
I L VPR s A : g ' e TR e T o vz
© ) 5l " — :
~ SILL ANCHOR CONTINUOUS 3/8 PRODUCT RENEWED = 5,
. STRKE & e eLevaon) SYNBOARD SUBSILL & comPlyiog withthe Florids |3 iy
ELEVATION) FASTENERS ~ Awu%m ADHERED TO THRESHOLDAcceptumee No ()R ~0Y2S - 06 g
SECTION /2 T Do 212200 SECTION o i < :
SCALE: 1/2 FULLK@J FLEvToN SECTION (B ' SCALE: 1/2 FULL\ 5/ By ] ek, DRAWING NO. | REV.
' SCALE: 1/2 FULL\G/ FOR DETAIL NOT SHOWN, SEE SECTION "A”" Mian| 1197
FOR DETAL NOT SHOWN, SEE SECTION "A". By XL SSHEE'(;FNO.12

_|



—

DRAWN BY: CHECKED BY:

| ROOFING NALL 45 FRAME ANCHOR (SEE ELEVATION) MAY BE R, FOOFING NAIL AS REQTD. s
\REQ' - ' MIN. 2X4 BUCK AND FRAME ANCHOR (SEE R
@ REQD. POSITIONED AT THIN OR THICK SECTION OF JAMB. M. 2X4 BUCK AND STRIKE FASTENER (5 FASTENER BY OTHERS ELEVATION) R
USE OF NAL FIN\ - = . e FASTENER BY OTHERS L PER STRIKE INTO BUCK R A "
ERNNAL TS N\t DT NN, 2x4 BUCK AND ot N e e s PER ELEVATION) a el g
OPTIONAL & FASTENER BY OTHERS < -
SHALL NOT , . 51 ] ®
REPEACE FRAME ——— = \/ __1/47 MAX. === 1/4" MAX. - = 1/4" NAX.
ANCHORS. (TYP.) SHIM @7 SHIM  SHIM SHM 1z
EE ~pd — — (jh} - — ——— S S S — %
18 /! gg — \‘@ 18 g , \Eg,\@ T :1 g 3
A 8 U :
51 [; T/g , i F Qg%ii s 1 -
(6)2) AN\ ® \@ J
A
46 %
56
& © = & @ o .
| gl €us
SEE GLAZING DETAIL ~ = SEE GLAZING DETAL , Iz = =] v 23,
ON SHEET 10. \/ \ ON SHEET 10. \/ : \ SEE GLAZING Sl o553
| j / DETAIL ON SHEET gl 2S00
: 10 ol 2221
T T ‘ gl =9
/ / \ . 2| gvcs
M=
— N, - —_ = =2
EXTERIOR N % = EXTERIOR N % = ExteRiR | NC LD = s | 3R
— = . — = -— = o a
T T y T £ |«
&) &) @ n |l
= i o o g5
7] 3 " 2 7] 2 < [
< = 8 S 2 z x|z
rrL l & _L / & —-L / & LN B
o o g
-
S| & 83
N, 3/16" X — 3| g2 i8]
3/4" WEEP HOLE n! g% 52”0
APPROX. 4" FROM 2| 2o i
EACH END 56 Ay = | 252,
Y WSz
= LD wae?
‘ = W §o i
@ > LZEge
/ 65 42 |, 5O 287
= = Q ]
Y = z0n i
= I ERL R
ol < 03_, =z a Lil
z 3 % 2
3 &5 o a
SEALANT BY ! 3 _
. é , OTHERS ﬂﬁ 1 S ui
ESANAANANNN AN A0 \ wo
[ [~ X s L oy
S — b TR DR Y I 7 & NP PR I
W 4 S _A":.__. i e __‘_..' _"‘.'4“. e T PR o ;..‘-.'.'.. Qo
AR S PR IS <% © ety 2
SILL ANCHOR RENEWE .
SEALANT BY 3 (SEE ELEVATION) 25 COmplying with the Flord =
OTHERS SILL ANCHOR - STRIKE FASTENERS Buiiding Code Y
(SeE Date { SECTION (SEE ELEVATION) SECTION 7\ & 8-0Y25.06 g
SECTION B ELEVATION) ~ SCALE: 1/2 FULL \.6./ SCALE: 1/2 FULL\8/ B 2/2609 I—

SCALE: 1/2 FULL\ 6/ FOR DETAL NOT SHOWN, SEE SECTION "D". Misif, Dado progl 2 1197

Divisisn SHEET NO.

6 o 12

~ ]



—

|

| — :
-ROOFING NALL AS T
\ REQTD. FRAME ANCHOR (SEE ELEVATION). MAY BE ] Y
78 POSITIONED AT THIN OR THICK SECTION OF JAMB. MA>1(/48 " FRANE WIOTH (.0
USE OF NAIL FIN N\ N\ 5 e 7 Ve e i o e ' MIN. 2X4 BUCK ;
% FIN NALL IS Na N ey T e N 2X4 BUCK AND AND FASTENER -~ FRAME ANCHOR (SEE ELEVATION). MAY Z
TONAL & FASTENER BY OTHERS BY OTHERS BE AT THIN OR THICK SECTION OF /—@
UPHONAL ¢ ; JAMB 5
Egéﬁcgo?mmg - == ] SHil /4 MAx —
ANCHORS. (TYP.) SHIM /{D > g
/ /)
SEE GLAZING DETALL () 4
“ (48 N sHeET 10, 6 T :
| Ve e _-Z OaN — :
4 (7] -~ N\ : e
. - 7 \ -
0 I/ < g
1 J;D:C: (- \ L IENT aansenba il (AP \
| ] | I
oA\ [ \ Y T 3;__/
) | 7 1 : )
ROOFING —/ \ N 2
— NAL AS \ 19 8| €0
/, 3 —_ =
cs)ﬁE s%gN?o DETAIL ~ REQD. 2| 258,
: \\ \ & SEE GLAZING DETAIL Sl o552
_ ON SHEET 10. g1 5
\ SECTION /i o | 2228
/ USE OF NAIL FIN & £l zvod
N A FIN NAIL 1S SCALE: 1/2 FULLN\Z/ 2| Sn=3
[ EXTERIOR ] - = OPTIONAL & SHALL s | 38E
= NOT REPLACE SECTION 77\ I
z FRAME ANCHORS. SCALE: 1/2 FULL\Z/ % e
ral : (e s [z
" 3 |2
{) E v |5
il / & > 12
> 2
212 3
e| &  3a3v
i \@ 2| <]
&) PRODUCT RENEWED 2 ot 5a®
gs u;_:j(:}mpl)ggﬁ with the Florida o uZJg ucgé
tance No 0B =045 06 3 | =5 &8s
: g z| 54,39
N @ - = Wo &z
46 < e N 3| £Z 588
23 o = 2 OO Emll\
fl 49 Z / = RO a° 1
: =) o 5% 838
g 89 opTionaL /4 I FERLE
< TS z |1S= £
TR [& ] H/”,\, S N7 N SEE GLAZING DETAIL
g N NARY AN [~ ON SHEET 10. ui
3 YT T LA AR % DA 71 AN &
o ] —; AN 2\; \ 3——/ AN
. Sy _ ] = T
b ,'4:_ ". -.v‘f’.- ' ! ¢ l I lL‘ﬂ ILJ { I\ j Z R % :
SEALANT BY ._/ ; & gg‘\\\ \ |3y
OTHERS SILL ANCHOR ——— NOTE: SCREW MAY BE POSITIONED SUCH (19~ 63~ (19 Approvod e complying whth the o= \ z
(SEE ELEVATION)  THAT THE SCREW HEAD IS LOCATED AT ® 63) Florida Briftag O ' g
SECTION " THE BASE OF THE THRESHOLD (PILOT - =
SCALE. 173 FULL @ HOLE AT TOP OF THRESHOLD MUST [ ExteRioR | SECTION /33 T
' THEN BE CAPED & SEALED) SCALE: 1/2 FULL\ 7/ 1197
SHEET NO.
7 o 12 |




~

ORAWN BY: CHECKED 8Y:
| T.JW. Ww.s,
@ PLDT:! =2 DAITZE}OQ/OZ
USE OF NAL FIN & FIN (18) EXTERIOR
NAIL 1S OPTIONAL & i
SHALL NOT REPLACE 2 3
FRAME ANCHORS. (TYP.) \ s EXTERIOR -
= (627 |
N P ® é
‘ ! H \Z @ g
oorg wil— |\l Bas i 48 19 39 :
AS REQD. © 3
) L - — :
_/ — N\ m| N
FRAME ANCHOR (SEE A— 3
ELEVATION). MAY BE Lﬁxm | = L \ 2
POSITIONED AT THIN OR - ! , —
g oo <o) ool \>J / \ ™ SEE GLAZING DETAL
T ~ N ON SHEET 10. o
O \ @ Slo
= .
MIN. 2X4 BUCK AND \—C) -] S¥g
FASTENER BY OTHERS D ® S| 538
) SEE GLAZING DETAL &) E&2Y
ON SHEET 10. =1 2Y o
© ) 2 =g
SECTION /T = | z554
» m E
1/4 FRAME WIDTH (F.W.) SCALE: 1/2 FULL\ 8/ A =l s52°
MAX. SHIM 8| I8
SECTION %N o| &
SCALE: 1/2 FULL\8./ Z &
USE OF NAIL FIN & FIN =
. NAL IS OPTIONAL & EXTERIOR | Appruvod 23 cuspltag with the gl
1/4 FRAME WIDTH (F.W.) SHALL NOT REPLACE .. 8 . I |z
MAX. SHIM DJ2Z[C2 e > |2
FRAME ANCHORS. (TYP.) - BRI g
MIN. 2X4 BUCK AND - Misasd Dode Fredet Orednd -1 2
FASTENER BY OTHERS L ( ’/> 1 3
o '. ' S B8R
4 __D_' = 8
o™ 5g¥
i ROOFING NAIL —/ Y Baseiieed @ 3| 85053
2" wF
FRAME -_ SEE GLAZING DETAL AS REQD. L 9 = | «F 28,
) W %o
ANCHOR . ON' SHEET 10. -_-..; ] 2| 5388
(€ X sevaw e\ L3 | £Z 888
ELEVATION) T N vy T ID o= %-’88 z8n
* 4 y A | - o33
T —  H e H ] © S8 3T
ROOFING NAIL C )] FRAME ANCHOR (SEE / \ : 25 "%
1 s d Hd 4 LI 4] Ll / z Q
AS REQD. \ T \ ELEVATION). MAY BE o A = AT N 2 CE
~ Ut " POSITIONED AT THIN OR " ‘“ ‘ ,
j 7 chK SECTION OF — PRODUCT RENEWED, ui
Y | . lscomp]y ith C,:::é -
IN. 2X4 BUCK AND~// | 4) | Actepes ok "'eol:;;r;a A 5=\ B
M . 'N ) P ance No = . 0 = N <<
FASTENER BY OTHERS & SEE GLAZING DETALL Expi egﬁzzzm ez \ \|3g
ON SHEET 10. K Sl 18
By _ e - &l NN\ | Fu
USE OF NAL FIN & FIN i odl Cariro 5 §>\ z
NAIL IS OPTIONAL & vi = ¢
SHALL NOT REPLACE " g
FRAME ANCHORS. (TYP.) VA SHIM FRAME. WIDTH ( W) I
SECTION m | EXTERICR | SE_CTION (A0 JHL?]NO
SCALE: 1/2 FULL &) SCALE: 1/2 FULL\ 8/ 8 e 19

~ |



1/4

MAX. SHIM

MIN. 2X4 BUCK AND
FASTENER BY OTHERS

FRAME WIDTH (F.W.)

/@

USE OF NAIL FIN & FIN
NAIL 1S OPTIONAL &
SHALL NOT REPLACE
FRAME ANCHORS. (TYP.)

FRAME — o :: /It ﬁ_?’ /_‘ EXTERIOR 2
ANCHOR ' 3
(SEE o | FRANE SN/ , SEE GLAZING DETAL 5
ELEVATION) = gﬁEsﬁngODEWL ANCHOF?\]‘ I oo ON SHEET 10. 5
46 ' (SEE SALVANNNARAONYN o
“ ELEVATION) .+ } @ g
; ] SHIM ] -~ AN
‘ AA_‘-w_ ” g
_ N ) N L mi /j ﬁ\q \\
1 ‘,/ ‘:.' 41
YRAAAN) z:agz \ A ! » [susiiuseninirase &\ﬂ /
J&—rm il ) / - \\ N 2{ % .
\ S — SHIM R
SEALANT MIN. 2X4 BUCK AND >l S48,
58) D [Eor FASTENER BY OTHERS 2l g 5%
E]1 39
use o e o (9 SECTION /7 % FRAVE WIOTH () 2| 2289
; - = L ESIEN
OPTIONAL & SHALL SCALE: 1/2 FULL\.9/ MAX. SHIM 5| Eacs
FRANE ANCHORS SECTION _ 7y T EAE
| SCALE: 1/2 FULL\ S/ 2
(TYP) )
2R
29 3 19
8 PRODU; S
CT RENEWED ~
INTERIOR MULL- MULL SHIM 3 55 Complying wth e Dorigs ol E
COVER AS REQD. SILICONE SEALANT Building Code 08-0426.0¢ | % | 2 2
cceptance No N 0 Z N
1 OPTION IN PLACE OF Expiration Date S| & a5i
[ Z J CORRUGATED FASTENERS: EXTERIOR Y (2 /2007 % b, g8t
! ! NO. 10 X 2 1/2" SCREWS /—@ 2< R
/L . WITHIN 6" OF ENDS & (2D— i 2| 2 Ly
” [4) LS
3/8" X 1" CORRUGATED —1 E ] )/ _('\)A?XMJEUO%C' EA. SIDE OPTION IN PLACE OF ~ 1 vd °© :z g2
FASTENER 6" FROM ENDS [J= = = = = CORRUGATED FASTENERS: 3| 53y
& MAX. 12" 0.C. (NOT <=k == NO. 10 X 1 1/2” SCREWS <oogpoec{ | oo SEE GLAZING DETAIL Z| b3 8%
REQ'D IF #10 SCREWS WITHIN 6" OF ENDS & ON SHEET 10. Lo | £3 588
ARE USED) [ MAX. 16" 0.C. EA. SIDE /‘MULL SHIM é‘ g(%o g:é
e 3 OF MULLION H - e e [xveE
z =] ©a g
= Y z
C :L T 71 2 P ]
N I > // o [_l -—j&CE ] /r_] % o= a
veeaad weadill] > — .
S = 5 SE m N
' ' 2 o3
O 3/8" X 1" CORRUGATED FASTENER 6" S S
» [N re
FROM END; & MAX. 12" 0.C. (NOT = i
REQ'D IF #10 SCREWS ARE USED) & j
5 SILICONE SEALANT SECTION o &
! INTERIOR MULL SCALE: 1/2 FULL \ 9 g
& COVER AS REQ'D. / N/ =
EXTERIOR SECTION m DRﬁiwqhg_/No. REV.
SCALE: 1/2 FULL\ 9/ ——e
9 o 12

—

/@

CHECKED 8Y:
W.W.S.

DATE:
1=2 12/09/02

_ |



SILICONE SEALANT

(DOW 1199

N

(INSWING JAMB SHOWN; OUT—SWING JAMB IS SAME CONSTRUCTION)

SEALANT &

BACKER ROD BY

OTHERS

(4) 10 x 2 1/2"
S.S. WO0D
SCREWS

JAMB CORNER DETAIL

NOTE: CLAD CORNERS ARE MITER CUT & JOINED WITH
(1) NO. 8 X 1" S.S. SMS SCREW

CONTINUOUS WOOD
MEMBER LESS IN SIZE

THAN A 2X_ BUCK TO BE
MIN. 3 1/2" DEEP.

L IR

/| REQUIRED WHEN 1/4” OR
LESS SHIM SPACE EXISTS
~ (USE SHIMS ONLY).

oo

i

v

3/16" CONCRETE SCREWS TO REPLACE ALL NO. 10
FRAME SCREWS,” STRIKE SCREWS AND LONG HINGE

SCREWS (REF. ELEVATIONS FOR SCREW LOCATIONS &
ANCHOR REQUIREMENTS TABLE ON SHEET 1 FOR

DIRECT MOUNT DETAIL OTHER INSTALLATION REQURENENTS).

HEAD DETAIL SHOWN; OTHER JAMBS SIMILAR
SEE OTHER SECTIONS FOR DETAIL NOT SHOWN

1/2" THICK x 1 7/8"

L~

(2) #10 x 2 1/2" SS.
WOOD SCREWS INTO
WOOD PART OF SILL

(4) 18 GA. X 3/8"
3/4" S.S. STAPLES @
EA. SIDE

DEEP x 3 1/4" TALL A
(TOP) & 6 3/8" TALL %\9
(BOTTOM) TENON AT . ]
HORIZONTAL DOOR RAILS ‘ Lo
SEAL JOINT WITH Il
DOW 38385 OR 1199 Il
SILICONE Ll
L Ly
~
v
<
SNASAANANANN SN NN
v
— MORTISE IN VERTICAL DOOR \
| _ MEMBERS TO ACCEPT SYNBOARD SUB SILL

CORNER DETAIL @ SIDE JAMB & THRESHOLD

T 7 TENONED MEMBER
/
i\/ NOTE: ALL MEETING STILES & RAILS TO
BE GLUED AT MORTISE AND TENONED

MEMBERS WITH FRANKLIN
INTERNATIONAL MULTIBOND-2000 WOQD
GLUE

(INSWING DOOR)

4

SEAL JOINT WITH

RAIL_TO STILE CORNER DETAIL

DOW 895 OR 1189
SILICONE

@~

\\/)

LT LTI T T

b v
Taray,

41

l~— SEE OPTIONS BELOW =

1/2" MIN.

BITE

(2) 110 x 2 1/2° SS.
WOOD SCREWS INTO
WOOD PART OF SILL

(NOT APPLICABLE TO
ADA SILL)

| —(4) 18 GA X 3/8" x

3/4" S.S. STAPLES @
EA. SIDE

SYNBOARD SUB SILL

CORNER DETAIL @ SIDE JAMB & THRESHOLD

OPTIONAL
DECORATIVE CAP
ADHERE STOP TO
STILE /RAL WITH 7\ EXTERIOR

(QUTSWING DOOR)

\ DOW 995 STRUCTURAL
SILICONE (3 SIDES OF

woop GuE LA
\
A N GLAZING POCKET) (49

e ——

g SEAL JOINT WITH
Q06O TN IR CEE)

DOW 995 OR 1199
SILICONE

OPTION #1: 7/16" THICK SOLUTIA SAFLEX LAMINATED GLASS

(3/16" ANNEALED/0.090" SAFLEX PVB/3/16”

ANNEALED)

\\

OPTION #2: 7/16" THICK DUPONT SGP LAMINATED GLASS (3/16"
ANNEALED//0.090" SGP/3/16" ANNEALED)

OPTION #3: 1/2" THICK SMITH MOUNTAIN IMPACT SYSTEMS k=
LAMINATED GLASS (3/16" ANNEALED,/0.120" .

UVEKOL/3/16" ANNEALED)

CORNER DETAIL @ SIDE JA

(4) $10 x 2 1/2" 5.
WOOD SCREWS INTO
WOOD PART OF SILL
(NOT APPLICABLE TO
ADA SILL)

\_SYNBOARD SUB SILL
MB_& THRESHOLD

(ADA THRESHOLD)

PRODUCT RENEwEp

Building }(’:0 zjewnh the Florida

CHECKED BY:
TJW. W.W.S.

—

DATE:
1=2 12/09,/02

DATE

BY

REVISION DESCRIPTION

NO.

7]
&
§ o
Z o
Y5
x ¥ <P
(] CZDMO"
P OZ w0
el 259
i d<*m
2| E=£S
% Emog
z| o3
My <C
3 ;P")CL
o o
Z |
7 =
— po}
= =
S
I
Iz
Do B
- e}
> O &
z| 2 T
o v "
2| & 28R
Z | we &3
= Z w o
=0 = n
g CZD 2 .
-~ >
o W2ugs
= w
= Xi= o
=] mbogg
= WD wao?@
= L‘ngxl
5 Lz 5o
ué mIOzC{]I\
= 280 el
= <Z(U) o3&
o o2
2 5‘;"3@3@'
£ %) z
I EE
) o= T
wi
a
9
e
< <
8.
g
(/‘lz
L
zo
w
@
(s 4
<
=z
DRAWING NO. [REV.
" SHEET NO.
10 o 12

il



—

‘ ASTRAGAL BASE

1.813

= 1.283 —=| 1

il

0.688

7.052

7.375

Ly

l....

5]

(5) BOTTOM RAL

N - 4530 4/ le’?fg&w“j’i | 4546 |
0.719 4 1 344 0.750 - - (;,_8‘;8
SR I I
T f—] | — 1932 —=
— 2,407 —— @ INSWING DOOR JAMB
@ QUTSWING DOOR_JAMB } . |
{ 4.250 | T
1813 1.516
= =
— H ‘ — ) '
: — 3.890
| 3.927 | 4.000
@ STILE & TOP RAIL @ INACTIVE PANEL MEETING
STILE
> _L l 4875 E 0.375
0938 i ;—0094 0_654527[:‘ 0094 = t
, f |
(1) JAMB_COVER COVER | | 4250 u
STILE_COVER
0.221 1.667
90’7 0771 l-k”SO_-{ __L
0.685
0094—' ——T
1* 540" 0.062

(27) ASTRAGAL CAP

3.062

5. 500

2.438

O 688

I
0.052 0.075

1196 |-—

-—1.880 — [ 0594

.

R @ INSWING DOOR DOORT

INTERIOR STOP

T

—2470—f |

_[0.

@ WOO0D THRESHOLD

0.625
0.406

f

T T

0. 741

‘G_L_A_SQ_S_T_O_P

1625

]

869

(17) QPTIONAL THRESHOLD 037

—
INSWING_DOOR

ASTRAGAL

1.030 —| il

o

T —iss0— T

|—o0.813

EXTENSION

ﬁ ro.zw
0.188

4] .
0.500 C::/rt@:{m
=

SYNBOARD

@ INSWING DOOR THRESHOLD

0.060
0.563

1

T —200— T

05041[ @ QUTSWING DOOR_THRESHOLD COVER

; '—~1.465—1

0.335 ¢=4]

@ INSWING DOOR INTERIOR STOP

0040—‘f

‘ NAIL FIN

0.295

R o075 o313
D }Io.zse

MULLION CLIP

- ~STRIKE HOLE
COVER /
10,250
| Fuso 1.500 2.000 1.750 1.625 - 1.625
0.375 ) i
O O O 7N Cl) —;)go
¥ O » \ v )
0375 — T = 3/16 - Oy

f

PANEL REINFORCEMENT PLATE - (6) 90.250

5.000 !

ADA_THRESHOLD

1.750 v’

2,500
—— 2.065 —~]

*1-%?:;?

s

0813—~  |—
QUTSWING DOOR

ASTRAGAL

o
0.094 ——

4875
0.608 — —

@ TOP RAIL

COVER

6875
i

© () / /O 1.2Eo
O - Cg < oi25® O] |

&)

SILL_STRIKE PLATE
|

(5) 1/4" ¢
6.000
7[0_813__“ 2 STRIKE HOLES
1.875 1875 d

/ 2 STRIKE HOLES

0.500 —>!

1.750

1.750

i

Lo

T = 0125

i/f

i/—(5) #0.187
f

@ HEAD STRIKE PLATE

‘ BOTTOM RAIL COVER

0.607 — lv
& 4
-
b2k
A
S T
[en]
—{l~—0.094
S
S
o0
b4
<
[en]
L
I
— 0.375

© JCHECKED BY:

W.W.S,

DATE:
12/09/02

REVISION DESCRIPTION

NO.

MANUFACTURER

3313 SW. 42ND AVE.
800-273-5598

PALM CITY MILLWORK, INC.
PALM CITY, FL 34990

ALUMINUM CLAD MAHOGANY 1 3/4" OUTSWING & INSWING FRENCH DOORS

DRAWING TNTLE
CONSULTANTS

600 SANDTREE ODRIVE; SUITE 2038
PALM BEACH GARDENS, FL 33403
PHONE: 561—~775-4902 FAX: 561-775-4903

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A.

PRODUCT RENEWED

as complying with the Florida
Building Code

Acceptance No 6 \/35 OQ
Expiration Date

CERTIFICATION

AR L 5 4
e
R Z

WAR

DRAWING NO. R

1197

EN W¢ SCHAEFER, P.E.
P.E. NO. 44135

2

11

SHEET NO.

12

OF

|

_ |



ORAWN BY: CHECKED 8Y:

BILL OF MATERIALS | e
TEM # ITEM DESCRIPTION MANUFACTURER /NOTES TEM # ITEM DESCRIPTION MANUFACTURER /NOTES I L
PARTS FASTENERS &
|1 OUTSWING JAMB WHITE (SUGAR) PINE 50 }18 GA. X 1" FINISH NAIL 2" FROM CORNERS & 5" MAX. O.C. °
2 |INSWING JAMB WHITE (SUGAR) PINE 51 18 GA. X 7/8" X 3/4" S.S. STAPLES 5" FROM CORNERS & 6" MAX. 0.C. .
3 |STILE & TOP RAIL LVL CORE WITH MAHOGANY VENEER 52 1§12 X 1 1/8" FH SS WOOD SCREW 4 PER HINGE INTO DOOR PANEL
4 |INACTIVE PANEL MEETING STILE LVL CORE WITH MAHOGANY VENEER 54 |#8 X 3/4" S.S. SCREW 6" FROM TOP & BOTTOM & 6" MAX. 0.C. 2
5 |BOTTOM RAIL LVL CORE WITH MAHOGANY VENEER 55 |#8 X 1" FH WOOD SCREW 3 PER HEAD STRIKE PLATE :
6 |INSWING DOOR INTERIOR STOP MAHOGANY 56 [#10 X 2 1/2" FH SS SMS 6 PER REINFORCEMENT PLATE S
7 |WOOD THRESHOLD PINE 58 [#10 X 2 1/2" FH SS SMS 5" FROM ENDS & 16" MAX. 0.C. Lf
8 |INSWING DOOR ASTRAGAL MAHOGANY 59 |#10 X 2 1/2" FH SS WOOD SCREW 3 PER THRESHOLD EXTENSION (AT ENDS & MID SPAN) 2
9 |OUTSWING DOOR ASTRAGAL MAHOGANY 60 [#12 X 3/4" WOOD SCREW 4 PER HINGE INTO JAMB @ OUTSWING DOOR (3 @ INSWING)  [|&
10 | GLASS STOP MAHOGANY 61 1410 X 2 1/2" FH SS WOOD SCREW TWO 2" FROM TOP & BOT. & 12" 0.C., STAGGERED =
11 |THRESHOLD EXTENSION 0AK 62 |48 X 1 1/4” WOOD SCREW 4" FROM ENDS & 12 0.C. z
12 |SUBSILL 3/8" X 4 5/8" X SILL LENGTH COMPOSITE 63 [#8 X 2" S.S. WOOD SCREW 2" FROM TOP & BOTTOM & 12" MAX. 0.C.
18 | JAMB COVER 5063-T5 ALUMINUM 65 #6 X 1" FH WOOD SCREW 2" FROM ENDS & AT MIDPOINT OF DOOR RAIL
19 |STILE COVER ' 6063-T5 ALUMINUM 66 j#12 X 2 1/2" FH SS WOOD SCREW 1 PER HINGE INTO BUCK (AT INSWING DOORS ONLY)
20 |ASTRAGAL BASE - |6063-T5 ALUMINUM ©
21 |ASTRAGAL CAP 6063-T5 ALUMINUM § S
22 |THRESHOLD COVER 6063-T5 ALUMINUM - =L
23 |INSWING DOOR THRESHOLD SCHLEGEL HYDRO SILL; 6063-T5 ALUMINUM & OAK 2 g g
24 |ADA THRESHOLD 6063-T5 ALUMINUM & 3 S ﬁ
25 |TOP RAIL COVER 6063-T5 ALUMINUM el = = o
26 |BOTTOM RAIL COVER 6063—T5 ALUMINUM = g =
27 |INSWING DOOR INTERIOR STOP COVER 6063-T5 ALUMINUM = 520
28 |NAIL FIN (OPTIONAL) VINYL 3 ?’ =
29 |MULLION CLIP 6063-T5 ALUMINUM 2 x
31 |FLAT BAR 3/16" x 1" x 94" A36 STEEL (6 PER PANIC DOOR PANEL) 2K
HARDWARE S
34 |HANDLE AS REQUIRED TO OPERATE DOOR N
35 |SILL STRIKE PLATE 6063-T5 ALUMINUM TE
36 | PANEL REINFORCEMENT PLATE 304 SS. =1 o S
37 IHEAD STRIKE PLATE 6063-T5 ALUMINUM 3 £ and
38 |HINGE (BRASS, S.S., OR PLATED STEEL) HAGER #1191 4 1/2" X 4 1/2" ?;’ b ¢ 555
39 |PANIC LOCK DEVICE VON DUPRIN, INC. 98/9927 Za §Lﬁ
40 |6—POINT_LOCK HARDWARE G-U RINO #G-20384-22-0-3 5, Qg g2
41 |4-POINT LOCK HARDWARE G-U RINO #G-20384-22-0-3 = | 225,
42 |5-POINT LOCK HARDWARE K.F.V. #AS7370 2| b3 538
43 |2-POINT FLUSH BOLT ASSEMBLY HAGER #282 OR KFV AS7000 HAGER SYSTEM CONSISTS OF A SINGLE MANUAL 3 ;E‘z” E5w
SEALS & SFALANTS ACTIVATED FLUSH BOLT AT EACH THE HEAD & SilLL; gé 588 guﬁnz
44 | CORNER WEATHERSTRIP SIMPLE SOLUTION, 0.600" X 1.782" KFV SYSTEM IS A SINGLE ACTIVATED 2=POINT LOCK. ; § -3 §§?
45 |FOAM WEATHER STRIPPING CLEAN SEAL RIBBED FOAM ADHESIVE z ‘é’; Z
46 |WEATHER STRIP SCHLEGEL Q-LON #QEBD-650 c__I5= £
47 | POLYFLEX SEAL SCHLEGEL #PF—109 "
48 ISEAL SCHLEGEL 5/32" BLACK FIN SEAL €2\ =
49 |DOOR SWEEP VINYL %ji\ i
R = e
* WOOD USED WITH TEST UNITS WAS SELECT WHITE PINE AT JAMBS AND SELECT MAHOGANY AT ALL VANEERS, STOPS PRODUCT RENEWED e g
AND ASTRIGALS. ALTERNATE WOOD SPECIES TO BE APPLICABLE WITH THESE DOORS AS A MAHOGANY SUBSTITUTE IS ;‘u;’;;'.“t"ymswiﬂnheﬂorida = =
SELECT RED OAK, REDWOOD, FIR, RED MAPLE, HICKORY, DOUGLAS FIR, CHERRY OR BIRCH. AS A SUBSTITUTE FOR THE ne Code il oo
JAMBS, ALL WOODS ABOVE ARE APPLICABLE WITH THE ADDITION OF SOUTHERN PINE & MAPLE. i ¢
E
O DRAWING NO. [REV.
o 1197
SHEET NO.
12 o 12

"~



